[ —#& ]

EEEE-BR

BiE IFVF - | EAKE IE® EETR R G
(keal) (g) (2)
e 1 1,600 60 40 *8R 150 |[HiEnE
2 1,800 65 45 kAR 180  |[REA %tk
3 2,000 70 50 $ER 200 SOKEB. hRELF
4 2,200 80 55 KR 250 |FEABE. pEERF
ERE EBE 2,400 85 60 KER 220 BRI
E ¢ 1,600 60 35 AR 200
X 1,400 60 35 235 300
DB 7558 1,200 55 35 75393 300
5458 1,100 55 35 55393 200
3958 1,000 50 35 35353 200
AR 1 1,600 60 50 KER 160 /& (1K)
2 1,900 75 60 KER 180 [MNEE(F)
SIRE 1 1,050 35 30 8K 100 |[1~2Ex&
2 1,350 45 40 KR 150 [3~5EAH
RENE HR 168 3 1 HHK 200

X — R ARATRENERETEE A,




[ Filame ]

BiE IfNE - | EAKE IE® EETR R G
(keal) (g) (g)
SEE 1 1,200 12 35 KR e
2 1,600 30 45 RV, X8R
3 1,800 50 45 RV, X8R
4 2,100 75 55 /X KER
R 5 B 1,440 35 30 e PR 1 B E
& 1a B4V H TR
2a 1,600 40 35 {BLNHITER
3a 1,760 45 35  {BLNHTER
4a 1,920 50 40  {EAUNITER
1b 1,440 35 30  KER
2b 1,600 40 35 KER
3b 1,760 45 35 KER
4b 1,920 50 35 KER
ENE 1 1,800 50 40 v, BHKIR [EH(HD)
2 2,000 60 45 v, BYKER
3 2,200 70 55 @i, BoKER
bF i 0 1600 1,600 60 30 @i, BOKER
1800 1,800 60 30 @/, BYKER
bEHRAE R 1,600 65 25 AV -PAF 5
s B 1 1,600 60 35  [KER DS, SImE
1,800 65 40 BhEEE . FrigE
2 K AR |1
3 2,000 70 45 [ XKER
Frigs 1 1,200 30 25  [KER g 8
2 1,600 50 35 KR
3 2,000 70 45 [ XKER
ECE 1 1,200 55 35 [ KER PEPRYA . AR .
(T3MF-3Y 2 1,440 65 40 k&R DR
b E) 1,600 70 40 L3N E3
3 K AR =
4 1,760 80 50  EKER = AEMEE ., fER
5 1,920 85 50  [KER
=S A& 1 1,600 60 35 KR = 5 M fE
2 1,800 65 35  [KEK
ams 2,250 80 40  RER & 1




BEE 2,000 70 45  KER
RERAHIR & 1 600 5 1 BEW R e 7= 28
2 900 25 10 [543 RBR. EDOS&%SR
3 1,400 40 15 238 i 7= 725
4 1,800 65 20  [ERER
5 1,800 65 30  [EREK
ABR 1,700 70 40  [EAR B-+=6EES
SHIER 1,500 65 3B LW HILRRE B
ERER ERES 1,600 70 35  ERR HIESRER
sn—vg 1,400 65 20 2% JA—2¥R
EFEABEE| 1,400 65 20 2% M-t AL PN P
IR AL T B NREIERR
& 1,200 60 30 |2
HEND 350 25 GHACER T iR
NEMERE KBHO 750 35
B B & 59 1,000 45
+#g2ME) =2WD 1,300 50
2O 1,600 70
KER 1,750 75
REELE A 15 1T 1T Bt FLIR
B 50 1 1T DAL#K
C 300 15 4 759
D 500 20 6 |2
E 700 25 7 [BER
ETHEE)—& 150 1 WESE o
WETREE1—1(EY— 400
&)
TR —2(€)— 700
&) BERW
HETRER 2(R—RE) 1200 BRI, 2%
1500 BERW. 2. &
ETHRER 3(VIMR)
IA—VE 2200
BRER TEEE 1,064 14.6 14.0
WAlERR

HWREECABHOBREUNOREREZLELTIGEPREERE -EREALGE
ICHADEREVDELT HEE (RIBE, REREAOIX, BEDOBRRFELLE) IS
DT, FFAAREELTRICMYES DO TREL LERELS, COHE, SHEFHEL
LEERDOhARRIITESE T SRBLTIELLY,




